
 
 

Ques.1 Which will swept a bigger circle - a door or a small window?  
 ×�úÃÖ ¾ÖÃŸÖã «üÖ¸üÖ ²Ö›üÖ �ÖÖê»ÖÖ ²Ö−Öê�ÖÖ - ‹�ú ¤ü¸ü¾ÖÖ•Öê «üÖ¸üÖ μÖÖ ”ûÖê™üß ×�Ö›ü�úß «üÖ¸üÖ ? 

 _________________________________. 
 
 
Ques.2 To make the top spin well, where will you make the hole? 
  

______________________________________. 
             
 
 
Ques.3 Give the answers of following: -      
 ˆ¢Ö¸ü ¤üß×•Ö‹  
 

a) Length of BC = ________ Cm. 
BC �úß »Ö´²ÖÖ‡Ô = _______ ÃÖê´Öß | 

b) Length of FG = _________ Cm.       
FG �úß »Ö´²ÖÖ‡Ô = _______ ÃÖê´Öß | 

c) Length of EG = _________ Cm.  
 EG �úß »Ö´²ÖÖ‡Ô = _______ ÃÖê´Öß | 

d) Length of AD = _________ Cm.       
AD �úß »Ö´²ÖÖ‡Ô = _______ ÃÖê´Öß | 

 
If all the inner circles have equal radius = 6 cm.  
†�Ö¸ü ÃÖ³Öß †−¤ü¸ü ²Ö−Öë �ÖÖê»Öê �úß ×¡Ö•μÖÖ = 6 ÃÖê´Öß Æîü | 
 
 
 
 
Ques.4 If OC = 5 Cm and separation between the circles is equal = 7 Cm, 
find:- 
 μÖ×¤ü †Öê ÃÖß = 5 ÃÖê´Öß †Öî¸ü ÃÖ³Öß �ÖÖê»Öê ÃÖ´ÖÖ−Ö ¤æü¸üß ÃÖê †»Ö�Ö †»Ö�Ö Æïü ŸÖÖê –ÖÖŸÖ �úß×•Ö‹ | 
 

a) Length of CD = _______ Cm. 
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CD �úß »Ö´²ÖÖ‡Ô = _______ ÃÖê´Öß | 
b) Length of BE = ________ Cm. 

BE �úß »Ö´²ÖÖ‡Ô = _______ ÃÖê´Öß | 
c) Length of BO = ________ Cm. 

BO �úß »Ö´²ÖÖ‡Ô = _______ ÃÖê´Öß | 
d) Length of AF = ________ Cm. 

AF �úß  »Ö´²ÖÖ‡Ô = _______ ÃÖê´Öß | 
e) Length of AE = ________ Cm. 

AE �úß »Ö´²ÖÖ‡Ô = _______ ÃÖê´Öß | 
 

 
 
Ques.5 Write four things which can be used to trace circle? 
 ‹êÃÖß “ÖÖ¸ü “Öß•Öê ²ÖŸÖÖ‡‹ ×•Ö−ÖÃÖê �ÖÖê»ÖÖ (¾ÖéŸÖ) ²Ö−ÖÖμÖÖ •ÖÖ ÃÖ� êú | 
 
 _______, ________, ________, _________. 
 
 
Ques.6 If two goats are tied to a pole in a ground. Which goat will trace 

bigger circle if the length of rope of second goat is greater? 
μÖ×¤ü ¤üÖê ²Ö�ú×¸üμÖÖë �úÖê ‹�ú �Ö´²Öê ÃÖê ²ÖÖÑ¬Ö ×¤üμÖÖ •ÖÖ‹ ŸÖÖê ×�úÃÖ ²Ö�ú¸üß «üÖ¸üÖ ²Ö›üÖ �ÖÖê»ÖÖ ²Ö−Öê�ÖÖ | 
μÖ×¤ü ¤æüÃÖ¸üß ²Ö�ú¸üß ²Ö›üß ›üÖê¸üß ÃÖê ²ÖÑ¬Öß Æîü | 
 

 
 
Ques.7 Solve these:- 
 Æü»Ö �úß×•ÖμÖê | 

a) 4 x 2 Cm = ________ Cm. 

4 x 2 ÃÖê´Öß =  ________ ÃÖê´Öß | 
b) 8 x 7.5 Cm = __________ Cm. 

8 x 7.5 ÃÖê´Öß  __________ ÃÖê´Öß | 
 
 
 
Ques.8 Solve these:- 

Æü»Ö �úß×•Ö‹:- 
1. radius = 4cm, diameter = __________. 

×¡Ö•μÖÖ = 4 ÃÖê´Öß, ¾μÖÖÃÖ = __________. 



2. radius = 6cm, diameter = __________. 
×¡Ö•μÖÖ = 6ÃÖê´Öß, ¾μÖÖÃÖ = __________. 

 
 
Ques.9 look at the picture and answer the following:- 

×“Ö¡Ö �úÖê ¤êü�Ö�ú¸ü ˆ¢Ö¸ü ¤üÖê | 
 
 
 
 
 
 
 
 
 
 

1. The centre of the small circle __________. 
”ûÖê™êü �ÖÖê»Öê �úÖ � êú−¦ü  

2. The name of a smaller radius and its length __________, __________. 
”ûÖê™êü �ÖÖê»Öê �úß ×¡Ö•μÖÖ �úÖ −ÖÖ´Ö ²ÖŸÖÖ†Öê | †Öî¸ü ˆÃÖ�úß »Ö´²ÖÖ‡Ô ³Öß | 

3. The length of a large radius __________. 
²Ö›êü �ÖÖê»Öê �úß ×¡Ö•μÖÖ �úß »Ö´²ÖÖ‡Ô ²ÖŸÖÖ‡Ô‹ | 

4. which is bigger:- 
�úÖî−Ö ²Ö›üÖ Æîü | 

a. OA 
b. OB 

 



ANSWERS 
 
Ans.1 A door. 
 ¤ü¸ü¾ÖÖ•Öê «üÖ¸üÖ | 
 
  
Ans.2 At center. 
 
Ans.3  
 

a) 12 Cm. 
12 

b) 12 Cm. 
 

c) 18 Cm. 
 

d) 24 Cm. 
 
Ans.4 
 

a) 10 Cm. 
 

b) 24 Cm. 
 

c) 12 Cm. 
 

d) 38 Cm. 
 

e) 31 Cm 
 
Ans.5 Bangle, coin, glass, plate. 
 
Ans.6 Second goat. 
 
Ans.7  

a) 8 Cm. 
 

b) 60.0 Cm. 
 



Ans 8  
a) 8 cm 
b) 12 cm 

      Ans 9 
                a)0 
                b)OA and 4 cm 
                c) 5 cm 
                d) < 


